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UNITED NATIONS

Paragraph 6.5.5.2.1.1., correct to read:

"6.5.5.2.1.1.
Step 1 – Calculation of shift speeds


Upshift speeds …

…

Equation 6-8:
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The results of shift speeds shall be mathematically rounded to the first place of the decimal point."
Paragraph 6.5.5.2.1.3., subparagraphs (b) and (c), correct to read:

"6.5.5.2.1.3.
…


(b)
No upshifts or downshifts by more than 1 gear, except from gear 2 to neutral during decelerations down to stop. Example:




4 4 4 4 3 3 3 1 1 1 1 will be replaced by 4 4 4 4 3 3 3 2 1 1 1


(c)
Upshifts or downshifts for up to 4 seconds are replaced by the gear before, if the gears before and after are identical. Examples:




2 3 3 3 2 will be replaced by 2 2 2 2 2, and




4 3 3 3 3 4 will be replaced by 4 4 4 4 4 4



In the cases of consecutive circumstances, the gear used longer takes over. Example:




2 2 2 3 3 3 2 2 2 2 3 3 3 will be replaced by 2 2 2 2 2 2 2 2 2 2 3 3 3



If used for the same time, dominate a series of succeeding gears with a series of preceding gears. Example:




2 2 2 3 3 3 2 2 2 3 3 3 will be replaced 2 2 2 2 2 2 2 2 2 3 3 3"
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